DUAL-ROD CYLINDER ~ w» Top AIr

PROFESSIONAL & HIGH QUALITY

: DOUBLE ACTING TYPE, DTW-1 & |

Features

+ Compact in width and length with precision
guidance.

+ High lateral loads can be applied on both slide
and linear bearing unit.

+ Non rotation is standard.

+ Magnetic as standard.

D7W-1
®6~12~16~20+25+32
Filtered air with or without lubrication
The range of pressure Max. 7 kgffem®
georp Min. ®6 : 1.5 kgflem? ®12~ 16 : 1.0 kgflcm®  ®20 ~ 32 : 0.5 kgf/cm?
Proof pressure 10 kgf/cm®
The range of temperature -5~ +60 °C (Don't feeze)
Piston speed Max. 1 m/s
Material of cylinder barrel Aluminium extrusion, Anodised 20 microns
D7W-1 B 12 50 - A
| | | | |
‘ Type ‘ ‘ Bearing ‘ ‘ Bore ‘ ‘ Stroke ‘ ‘ Sensor ‘
[ [ [

swi‘tch

N : Slide bearing 6:D 6 Please ZE101
B : Linear 12 ®12

) see
bush bearings| | 16 : 16 || stroke table

20 : ®20
25: ®25
32: 032
Stroke table
Bore Stroke (mm) Max. stroke (mm)
®6 10,20,30 50
12 10,15,20,25,30,35,40,45,50,60,70 70
®16 120
®20 130
25 10,15,20,25,30,35,40,45,50,60,70,75,80,90,100 150
®32 150
Mounting type
air supply port work FUT
air supply port o
: (o] — =
— ' ' ’\\ H:* & 4 b m‘
— - = = v P
| — -t —1 + &
‘ - @ @ plate L/ i
= I

Work can be mounted on three faces
of the rod square plate.

Top mounting Bottom mounting Side mounting

® 22-01



< Tor AIrr

PROFESSIONAL & HIGH QUALITY

Allowable lateral load

W
!
C ¢
————————— Linear bush bearings
Slide bearing
T
\
\
\
20 X
—~ \
Z \
= \
k) \ O
o 15 A “\
© \ \\
. \ N\
2 A &
_— \ \ > ~
2 N \‘ ~
5 10 SN 1632
s NN
g A AN S
e N N| S~
HEEN N \ N®25
I~ S~
Q\<§\3¢20
I3~ Tr—[""Nos
<L --C—T=alo12
=3 |pg
20 40 60 80 100

Stroke (mm)

Anti-roll accuracy

=t
. 7T
e SN
IS
——T——=—=
Bore ®6 ~ 32
D7W-1N +0.1°
D7W-1B *0.15°
Capacity for the use as a pusher
Y
Ty
=1

* In the actual operation, load at the top should be
below the allowable top load.
+ Y — Deflection

DUAL-ROD CYLINDER

50

20

10

Load (kg)

0.5
0.4
0.3

0.2

0.1
0.05

Capacity graph

\ \
I D7W-1 ®32
\ \
—D7W-1 025 \
[ [ \\
D7W-1 ®20 \
D7W-1 16 A\N
1 ANEANN
D7TW-1 ®12 NN
\ \ \
D7W-1 ®6
\ \
Y \
\
\
\\
0 50 100 200 300 500

Speed (mm/s)

Deviation / Stroke Diagram

0.1
g /
5 —
B 0.05
(0]
© -
[a)]

0 20 40 60 80 100

stroke (mm)

® 22-02



DUAL-ROD CYLINDER

<@ Tor AIr

PROFESSIONAL & HIGH QUALITY

BYAWENINE Double acting type / Inside structure

® Eors 6 @ Bore ®12 ~ 20
172X 6)24X18X19 1
¥A
s <
¢ €
Il
$ < "
B 0N
16(7)15R0(8)X10(3) A1N13149R3)9 )5 )4
@ Bore 25 ~ 32
17X 2 )6 )24X1819( 1 )21
+ | NG
—
¢ =
5 ¥
R 3
| )
167150103 X8) UN13A14(9)5X8)X4
Parts list
No. | Part name Material No. | Part name Material No. Part name Material
1 Body Aluminium alloy 10 | Rod packing NBR 19 Nut Carbon steel
2 Plate Aluminium alloy 11 | Rod cushion NBR 20 Rod bush Copper
®6 : Copper End cushion Plug
. Rod cover ®12 ~ 32 : Aluminium e (only ®6) NBR Z ( set screw) Carbon steel
4 Head cover Aluminium alloy 13 | Magnet holder | Stainless steel 22 Plug ring NBR
. - . . O-ring
) Piston Aluminium alloy 14 | Magnetring |Magnet material| 23 (only ©20) NBR
. ®6 ~ 20 : Stainless steel . .
6 | Piston rod #1 25 ~ 32 : Medium carbon steel 15 Snap ring Spring steel 24 Bumper Polyurethane
. ®6 ~ 20 : Stainless steel . Rod cover washer .
7 | Piston rod #2 25 ~ 32 : Medium carbon steel 16 Screw Stainless steel | 25 (only ©6) Stainless steel
8 Cover ring NBR 17 Set screw Stainless steel
9 |Piston packing NBR 18 |Cushion screw Copper

® 22-03




<@ TorAir DUAL-ROD CYLINDER

PROFESSIONAL & HIGH QUALITY

BYAWE(IZEY Double acting type / Inside structure

@ Bore ®6 @ Bore ®12~20
| rS
7 é
® S===r— ey &
4 -

CO@IE 10374136111

@ Bore ®25 ~ 32
2 @@0@@
¢ || /I 7

No. | Part name Material No. Part name Material No. Part name Material
1 Body Aluminium alloy | 10 Cover ring NBR 19 Set screw Stainless steel
2 Plate Aluminium alloy | 11 | Piston packing NBR 20 Cushion screw Copper
3 | Rod cover#1 | Aluminiumalloy | 12 | Rod packing NBR 21 Nut Carbon steel
4 | Rod cover#2 | Aluminiumalloy | 13 | Rod cushion NBR 22 Plug (set screw) Carbon steel
® End cover | Aluminium alloy | 14 End cushion NBR 23 Plug ring NBR
6 Piston Aluminium alloy | 15 | Magnet holder | Stainless steel 24 O-ring(only ®20) NBR
7 Slide bush — 16 Magnet ring Magnet material 25 Bumper Polyurethane
8 | Piston rod #1 Bearing steel 17 Snap ring Spring steel 26 |Rod cover wahser (only ®6)| Stainless steel
9 | Pistonrod #2 | Bearing steel 18 Screw Stainless steel

Installation of sensor switchs Dimensional table

E

Mak | A | B | ¢ | D | E

Bore
"mmn.“ Y i ®12 | 265 | 175 | 85 | 16 | 22
%m * ®16 | 285 | 185 | 85 | 16 | 22
b- . D ! ®20 | 335 | 21 | 85 | 16 | 22
+—————— -&--—& < ®25 | 385 | 235 | 85 | 16 | 22
b o ®32 | 465 | 275 | 85 | 16 | 22

=] \i

& ]

@- -@ sensor switch

BN
f

® 22-04



DUAL-ROD CYLINDER

<@ Tor AIr

PROFESSIONAL & HIGH QUALITY

BYANE) Double acting type / Dimensional features

B ZZ + stroke
D J K S + stroke
- i E 1 LL L z
ry % w I d
) o] ar:
< o H 4 ! N T
@3 ol o i %\ / }
; NE
3 Jﬁ 179
N
F w
@ Bore ®12~ 16
L z \Y
<1 I I
L o fe]
i g
= ‘ RA \i RE|
@ Bore ®20 ~ 32 L 2 v
S s s WA
g | o
Sy h @{ o v
o % ®
N -
= \ RA R RB|
@ Bore 6 H
10 13 + stroke \% 5.6
I T Fom ‘ — 7 W
oo [0 o9 bl o o ¥ o] ENER
(R Jwl gt 7 R of o telLy
- G*0.2 f RA R LR_B—‘ M
C 1
A
Dimensional features
'g"grr: A|B|c|D|E |FThrough)|G|H| I | J|K|L M( Both sides ) N(Bothsides) |O| @ |laQ| R RA
®6 |37|16|35]14| 7 | 2-M3x0.5 |28]16(2.75/5.5| 8 |13|2-©6.5x3.3 deep(single side) | 2-M3x0.5through | 4 | 8 | 6 | 4-M5x0.8 | 22.5
®12 |46|18|44 16| 8 | 2-M4x0.7 |35|19| 4 | 8 | 9 |20 4-06.5x3.3 deep 2-M3x0.5x5deep | 6 | 9 | 10 | 4-M5x0.8 | 30
®16 |58|20|56|18| 9 | 2-M5x0.8 |45|25| 5 [ 10| 9 |30 4-08x4.4 deep 2-M4x0.7x6 deep | 8 | 10 | 10 | 4-M5x0.8 | 38.5
©20 |64 |25|62|23[115) 2-M5x0.8 |50|28| 6 | 12| 12|30 4-©9.5x5.3 deep 2-M4x0.7x6 deep | 10 |7.75 12.5 | 4-M5x0.8 | 45
®25 |80|30|78 |28 14| 2-M6x1.0 |60|35| 6 | 12]12]30 4-©11x6.3 deep 2-M5x0.8x8 deep | 12 | 85| 15 | 4-PT1/8 | 46
®32 |98|38]96|36| 18| 2-M6x1.0 |75|44| 8 |16 14|30 4-©11x6.3 deep 2-M5x0.8x8 deep | 16 | 9 | 19 | 4-PT1/8 | 56
\ Mark z
RB| S | T |TT v w (stroke) zz
Bore 10,15,20,25 | 30,35,40,4550 | 60,7075 | 80 [ 90,100
®6 | 11 | 45 | — | 3 | 4-M3x0.5x4.5 deep 2-03.4 10 + 1/2 stroke  (®6 : stroke 10,20,30) 58.5
D12 8 55 - 3.5 | 4-M3x0.5x4.5 deep 2-M4x0.7 30 40 50 — - 72
®16 | 8 | 60 | — | 5 | 4-M4x0.7x5 deep 2-M5x0.8 25 35 45 45 55 79
®20 | 8 | 70 | 95 | 6.5 | 8-M4x0.7x5.5deep | 2-M6x1.0 30 40 60 60 60 94
®25 | 9 | 72 | 13 | 9 | 8M5x0.8x7.5deep | 2-M8x1.25 30 40 60 60 60 96
®32 | 10 | 82 | 20 | 11.5 | 8-M5x0.8x7.5deep | 2-M8x1.25 40 50 70 70 70 112

® 22-05




